H #F B 4 B A £ R K

SFTCAET A oK H BUE
O m} O m} -4 m}
[EIFE - Mol A T [EHE - Mgk A _ T [EHE - Mgk A : —
E2] = 5 x B 5 x B

FARSUR YET STTA 1 1 1
FAILSUK 3 3 Hort-TYooR INJLINKER
FEILNADr 1 1 i ’d=vid INLARFF
FIHZREY 4 4 4y / NUHY— 1 1 2 1
TSOEREESR TISLAR NUT5Toa 36 10 46 33
FILSI)T CIF HT14E—L
FILELFY 1 1 HPAEE&P:! 3 3 3| 74— 1 1 1
FILIN=T 3 1 4 112a—>7 I1JEY 87 327 414 193
FILAZT 1 1 U7 T425UK
Foas SUAR—IL 5 2 7 2|7 -5 1 1 1
FUTAT T N—T—H SunJT 1 1 1173211 40 40 80 38
TURS RAAR 1 1 TIUR 22 8 30 23
ATA RAYT—T 1 1 TILHI)T
ARSI 1 1 1|R—=5> TINFx+I7Y
A5)7 9 7 16 5[RRA2 3 7 10 3|7 LRA
159 YT L P21
A5 4 4 4| RYS2H 121 24 145 126K E 99 38 137 92
AR 32 14 46 34| 2O0NFT 1 1 ARpFLs 541 284 825 794
AVRRST 53 45 98 68| AAR=F N 1 1 1
IHUE -z RrXI5
29547 1 6 7 1|FEX=T "S-
DARFREY 8 1 9 6|RHIL 2 1 3 1[R)—X
INTTA TILET 1 1 1[R)L— 5 3 8 6
®EE 36 5 4 23[trE7-ELTRIO ~NIL¥F— 1 1 1
IHO7EIIL HURYRRIT— R —ER R—35K 1 1 1
o7+ 4 3 7 2|V RE U RRZ7-ALYzTESF
IRM=7 EUMLYT RY7+
IRTT4= V37 RUET 2 2 2
IFFET 1 1 Pi=E3% RILMHIL 1 1 1
IYrJ7 24 16 108 124 80|7ho P25
IILHILARIL =3 19 60 79 45|%— v )L
F—R+SUT 16 6 22 12|32 F 2482 TEHRAIL
F—ARUT BT <504 1 1 1
*<—y FI3 1 1 1|=Y 1 1
+35 1 1 2 2|F¥F <)L
H—7 2 2 1FRT7IVAH =7 21 18 39 38
H—RRILT FE 797 1,098 1,895 1,125(34/O%KL 7 1 1 2 1
HAT7F Fa=o7 A7 IUhENE 2 2 2
HhY IRV 2 2 4 Lk 37 25 62 46|FR—S U EE
ha—Iv F 1 1 2 1|Zvo~v— 21 27 48 48
el 18 5 23 18|/ L A%Ta 1 1 1
HRY ToI—Y EF-UINR
hA—2 1 1 1|R1Y 9 4 13 9|E—AR=F
[ ES] 397 454 851 452|k—3 1 1 EHYUE—D 2 2 2
HUET [ £
HoRS7 7 7 14 12|RFS=h&FE EILTA4T
t=7E=7 r)=&—K-bT 1 1 EILRA
*=7 MLOA=ZRBY =D 2 1 3 2
F=TEHYD )%= 7 4 11 10|EVT L 36 49 85 59
*70x 2] ELTHRYB
*a1—N1 1 1 1F142zy7 4 4 NENZS, 1 1 1
F)v ear2l% SR 2 2 4 1
EDAV FIE7 ShET
FILFR 1 1 11=h3597 YrT7=T 1 1 2 2
T7TIS 1 1 —Jz—) JET
g9 —k —a—U—5UFK 8 3 11 6|UETFU 2By
gLy I8—)L 171 57 228 171|y~y7
a7 F7 JIVyz— IL—==7 7 7
=7 1 1 2 1fN—L—> WoEVIT LY
a—hkORD—)L 1 1 1Na1F Pz
aREYAH 2 2 4 3/ FREY 114 22 136 78|L YV
ayR NFhY LNy
=t Tal INFT 2 2 nvy 68 71 139 71
aavE7? 1 1 NRTY mEFE 1 1 2
QI HME JAYASS ZDith
aVTREHMNE RIF=a—%=7 & F 2930 2877 5807| 3,793
YOCTIET INTF




